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AL - AXHAEXRHERBRB (15%)

Gregor Mendel was an Austrian monk who lived in the 19th century and is considered the
father of modern genetics. Through his experiments with pea plants, Mendel established the
fundamental laws of inheritance, which are still used today to understand how genetic traits

are passed down from one generation to the next.

Mendel's experiments involved cross-breeding different varieties of pea plants with distinct
traits, such as tall vs. short plants or round vs. wrinkled seeds. He observed that these traits
were inherited independently of each other and followed predictable patterns. For example,
when he crossed tall plants with short plants, all of the resulting offspring were tall. However,
when he crossed those tall offspring with each other, some of their offspring were short,
indicating that the trait for shortness had not disappeared but was instead hidden in the first
generation.

Mendel's experiments led him to develop the concept of dominant and recessive traits.
Dominant traits are those that are expressed even when only one copy of the gene is present,
while recessive traits are only expressed when both copies of the gene are present. For
example, in pea plants, the trait for tallness is dominant, while the trait for shortness is

recessive.

Mendel's work also led him to discover the concept of genetic ratios. He observed that certain
traits appeared in predictable ratios in the offspring of his pea plant crosses. For example,
when he crossed two plants that were both heterozygous for a particular trait (meaning they
had one dominant and one recessive gene for that trait), the resulting offspring appeared in a
ratio of 3:1, with three having the dominant trait and one having the recessive trait.

Mendel's discoveries were initially overlooked by the scientific community, but they
eventually became recognized as groundbreaking and revolutionized the field of genetics.
Today, his laws of inheritance are still used to understand the genetic basis of many human

traits and diseases.
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According to the previous text, please answer the following questions. (15%)

1. What did Mendel observe in his experiments with pea plants?
(A) That traits were inherited dependent on each other

(B) That traits were inherited independently of each other

(C) That the dominant trait was always expressed

(D) That the recessive trait was always expressed

2. What is a dominant trait?

(A) A trait that is only expressed when both copies of the gene are present
(B) A trait that is expressed even when only one copy of the gene is present
(C) A trait that is only expressed in certain circumstances

(D) A trait that is not expressed at all

3. What did Mendel discover about genetic ratios?

(A) That they were unpredictable

(B) That they followed certain patterns

(C) That they varied from one generation to the next
(D) That they were influenced by environmental factors

4. Why were Mendel's discoveries initially overlooked by the scientific community?

(A) Because he didn't publish his work
(B) Because his work was too complex for most scientists to understand
(C) Because his experiments were not considered reliable

(D) Because his work did not fit with the prevailing ideas about inheritance at the time

5. What did Mendel observe in his experiments with pea plants?
(A) Traits were inherited dependent on each other

(B) Traits were inherited independently of each other

(C) The dominant trait was always expressed

(D) All offspring were identical to the parents
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